DMC 5V - PLYWOOD SUBSTRATE

DMC 5V PANEL
#9 - 15 DREXMET WOODSCREW
UNDERLAYMENT —

1/2" PLYWOOD MIN. R \
I j — .

EFFECTIVE DATE: 02-17-2016 PAN E L I N STAL LATI O N M -—Ew

- 'y | J
SUBJECT TO CHANGE WITHOUT NOTICE SCALE: NTS Roofing Systems + Custom Fabrication -//A




DMC 5V - PLYWOOD

/

=

/
/

5 7"

DMC 5V-CRIMP PANEL

METSHIELD UNDERLAYMENT

~=~_———#10-13x 1" PH WOODSCREW (12" 0..)
;> #9-15 x 1" WOODSCREW (5 PER PANEL)

/_——\—SINGLE BEAD TAPE SEALANT

—¥ 5V-CRIMP INSIDE CLOSURE

i
—=

—+ SINGLE BEAD TAPE SEALANT

EAVE FLASHING

CLEAT

#10-13 x 1" PH WOODSCREW (12" o.c.)

EFFECTIVE DATE: 10-29-14 M

SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" =1'-0"

2\

Roofing Systems + Custom Fabrication .-//A




DMC 5V - PLYWOOD

ZOOMED IN VIEW

—_——

EFFECTIVE DATE: 10-30-14 GAB L E

DMC 5V-CRIMP PANEL

#9-15 x 1" WOODSCREW (12" o.c.)
SINGLE BEAD TAPE SEALANT

GABLE FLASHING

METSHIELD UNDERLAYMENT

#10-13 x 1" PH WOODSCREW (12" o.c.)
CLEAT FLASHING

Drexal

SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" =1'-0"

Roofing Systems + Custom Fabrication

2\
=A.




DMC 5V - PLYWOOD

DMC 5V-CRIMP PANEL

METSHIELD UNDERLAYMENT

#10-13 x 1" PH WOODSCREW (12" o.c.)

SINGLE BEAD TAPE SEALANT

5V INSIDE CLOSURE

#9-15 x 1" WOODSCREW (5 PER PANEL)

= |
——1/8"x3/16" POP RIVET (1 PER GUT. STRAP)

ZOOMED IN VIEW
T B D ~ \
e b \

/ AN \

/ AN N
/ N/ S~

\Y

> Ve \
\\E§§ - \

-\N\\\\\\\\( Y
i SAN\Y /

NTS

BOX GUTTER

EFFECTIVE DATE: 10-29-14
SUBJECT TO CHANGE WITHOUT NOTICE

SCALE: 3" =1'-0"

SINGLE BEAD TAPE SEALANT
GUTTER BRACKET (30" o.c. max.)*

BOX GUTTER

NOTE:
% DESIGN LOADS MAY REQUIRE

CLOSER SPACING.

=N
Drexel 2

Roofing Systems + Custom Fabrication




DMC 5V - PLYWOOD

—— FASTENERS (BY OTHERS)
A PITCH BREAK FLASHING

METSHIELD UNDERLAYMENT

#9-15 x 1" WOODSCREW (5 PER PANEL)
1/4"-14 x 7/8" DP1 (12" O.C.)

SINGLE BEAD TAPE SEALANT

5V OUTSIDE CLOSURE

SINGLE BEAD TAPE SEALANT
DMC 5V-CRIMP PANEL

HEADWALL Drexel

Roofing Systems + Custom Fabrication

EFFECTIVE DATE: 10-29-14
SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" =1'-0"

2\
=A.




DMC 5V - PLYWOOD

DMC 5V CRIMP PANEL
1/4"-14 x 7/8" DP1 SD (12" o.c.)
SINGLE BEAD TAPE SEALANT

[/ 5V Z-CLOSURE
[/ #9-15 x 1" WOODSCREW (5 PER PANEL)

A SINGLE BEAD TAPE SEALANT
, 77—~ METSHIELD UNDERLAYMENT ZOOMED IN VIEW

~

ﬁ HIP FLASHING

HIP Drexal 2
EFFECTIVE DATE: 10-30-14 —— =//
SCALE: 3" = 1'-0" Roofing Systems + Custom Fabrication =Z77.

SUBJECT TO CHANGE WITHOUT NOTICE




DMC 5V - PLYWOOD

DMC 5V-CRIMP PANEL
— 1/4"-14 x 7/8" DP1 SD (12" o.c.)
/ SINGLE BEAD TAPE SEALANT
5V OUTSIDE CLOSURE
=7 SINGLE BEAD TAPE SEALANT
/ \\#9-15 x 1" WOODSCREW (5 PER PANEL)

\

\
METSHIELD UNDERLAYMENT
- PHAK FLASHING
\ CLEAT FLASHING
. #10-13 x 1" PH WOODSCREW (12" 0.c.)

~ ZOOMED IN VIEW

—

EFFECTIVE DATE: 10-30-14 M

SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" = 1'-0" Roofing Systems + Custom Fabrication

=N\
=




DMC 5V - PLYWOOD

FASTENERS (BY OTHERS)
/ / RAKEWALL FLASHING
/ / Y a— #9-15 x 1" WOODSCREW (12" 0.c.)
/ / / SINGLE BEAD TAPE SEALANT
/ /7‘ ~_ //, ~—— DMC 5V-CRIMP PANEL
// s~ METSHIELD UNDERLAYMENT

ZOOMED IN VIEW

— —

~

AN - '/'
—
AN /
_
A ///
NTS

7
/
\
AN
AN

—~
7
e
N
AN
~

—— .

EFFECTIVE DATE: 10-30-14 RAKEWAL L M -—Ew

N N —
SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" =1'-0" Rooﬁng Systems + Custom Fabrication -//A




DMC 5V - PLYWOOD

DMC 5V CRIMP PANEL
// s 1/4"-14 x7/8" DP1 DS (12" O.C.)
/ /——SINGLE BEAD TAPE SEALANT
/ /75V OUTSIDE CLOSURE
——SINGLE BEAD TAPE SEALANT
#9-45 x 1" WOODSCREW (5 PER PANEL)

RIDGE FLASHING ZOOMED IN VIEW
METS LlELD UNDERLAYMENT .

SN
RIDGE Drexel =2

EFFECTIVE DATE: 10-30-14 T
SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" = 1'-0" Roofing Systems + Custom Fabrication 7.




DMC 5V - PLYWOOD

ZOOMED IN VIEW

DMC 5V-CRIMP PANEL
— SINGLE BEAD TAPE SEALANT
/ #9-15 x 1" WOODSCREW (5 PER PANEL)
[/ 5V INSIDE CLOSURE
— METSHIELD UNDERLAYMENT
Y VALLEY FLASHING

NOTE:

1.)LAPS IN VALLEY ARE 12" MIN.
DREXEL METALS APPROVED TUBE
SEALANT IN ALL LAPS IN VALLEY.
TWO ROWS OF SEALANT BETWEEN
VALLEY LAPS, 4”7 UP FROM LAP.

2.) LARGE ROOF AREAS MAY REQUIRE
A LARGER GAP BETWEEN PANEL
AND DIVERTER TO ALLOW FOR
STORM WATER RUN OFF.

EFFECTIVE DATE:10-30-14 VA L L EY M -—E\‘

SUBJECT TO CHANGE WITHOUT NOTICE SCALE: 3" = 1'-0" Roofing Systems + Custom Fabrication =7




